202 2% 1 H ETC2.0 (DSRC) EiERIFE

BoeE B ]
BRI ast
1(&38) 2(KEY) 3(K) 4(RaY) 5(8) —RE

B[R] 2,967 134 13 129 188 27 3,431
SRR 589 51 5 24 97 5 766
aFR8 719 50 10 31 116 12 926
=R 1,717 80 1 95 343 70 2,236
AR 506 20 0 7 79 4 612
LR 756 33 0 30 136 12 955
mEE 1,596 64 5 66 280 32 2,011
KR 3,252 115 1 132 619 143 4,119
N 2,302 69 29 107 411 119 2,918
HER 2,573 133 0] 125 504 107 3,335
BEE 8,100 311 5 477 2,376 575 11,269
FEE 6,543 228 19 371 1,455 387 8616
RRED 13,074 268 30 488 2,443 955 16,303
fESNS 9,584 231 17 471 2,118 739 12,421
Hino i 1,263 67 1 79 228 32 1,638
2R 636 30 3 28 104 12 801
alllR 852 29 0 28 117 16 1,026
BHE 547 19 1 16 60 7 643
LIS 837 20 2 29 192 36 1,080
REFE 1,615 40 6 67 327 54 2,055
I RIS 1,847 66 2 83 408 89 2,406
EEIR 3,622 130 0] 127 997 247 4,876
BHIR 10,008 258 21 306 1,705 522 12,298
=ER 1,707 52 0] 73 388 79 2,220
BER 1,225 48 0 35 235 73 1,543
RERRT 2,096 73 6 97 511 186 2,783
ARRAT 8,072 318 25 505 1,685 671 10,605
"ER 4,878 117 7 142 1,035 304 6,179
ZRE 976 49 2 21 179 41 1,227
AL 757 27 5 30 172 37 991
SR 430 10 0] 10 61 5 511
ERE 388 17 1 13 93 13 512
A L= 1,585 93 0 74 401 110 2,153
LBE 2,527 78 2 103 544 177 3,254
Hijm[= 1,107 34 2 35 230 46 1,408
e 585 9 1 18 121 20 734
&HIIE 795 41 3 30 191 56 1,060
BER 977 28 1 32 247 83 1,285
=R 468 16 1 15 110 15 610
ERR 4,326 231 16 222 922 300 5,717
EER 482 33 1 23 140 39 679
RIBE 717 26 0 25 179 46 947
HEARIR 1,076 79 0] 74 226 69 1,455
AHE 780 50 1 91 150 31 1,072
=IFE 752 33 1 21 201 30 1,008
BREE 926 36 2 37 249 51 1,250
RIS 331 4 1 10 60 24 406
tT=4 0 0 0 0 0 0 0

a&t 113,468 3,948 249 5,052 23,633 6,708 146,350
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B[R] 2,396 79 4 86 162 15 2,727
SRR 503 21 0 13 88 5 625
aFR8 571 28 1 14 101 8 715
=R 1,338 35 0 61 295 52 1,729
AR 412 15 0 7 70 3 504
LR 627 8 0 16 127 9 778
mEE 1,327 36 4 41 251 22 1,659
KR 2,653 65 1 73 508 83 3,300
N 1,902 46 28 83 347 86 2,406
HER 2,113 90 0 83 443 83 2,729
BEE 6,335 177 3 339 2,000 385 8,854
FEE 5,147 155 5 280 1,249 282 6,836
RRED 10,046 189 10 316 2,028 736 12,589
fESNS 7,620 172 7 351 1,809 570 9,959
Hino i 1,020 37 0] 41 194 24 1,292
2R 514 25 0 19 93 11 651
alllR 668 21 0 15 100 9 804
BHE 444 13 0 12 52 6 521
LLBR 682 12 0] 22 168 25 884
REFE 1,309 23 3 40 279 41 1,654
I RIS 1,478 42 1 50 345 59 1,916
EEIR 2,952 75 0 78 852 167 3,957
BHIR 7,987 157 2 192 1,404 350 9,742
=ER 1,442 32 0 46 331 66 1,851
BER 986 20 0 15 205 59 1,226
RERRT 1,761 41 0 50 434 141 2,286
ARRAT 6,512 208 0] 332 1,395 488 8,447
"ER 3,981 58 6 103 865 216 5013
ZRE 778 34 0 14 141 23 967
AL 628 17 2 18 143 24 808
SWE 363 5 0 8 55 4 431
ERE 345 8 O] 8 84 8 445
A L= 1,266 54 0 43 330 80 1,693
LBE 2,151 43 0 67 450 120 2,711
Hijm[= 955 22 2 22 191 29 1,192
e 532 6 0 8 103 13 649
&HIIE 623 26 0 19 169 44 837
BER 805 18 0 22 189 50 1,034
=R 390 11 0] 9 101 12 511
ERR 3,438 149 1 133 771 218 4,492
EER 406 11 0 11 123 32 551
RIBE 558 17 0 13 140 29 728
HEARIR 868 58 0 60 189 49 1,175
AHE 652 38 O] 78 134 29 902
=IFE 644 19 0 16 177 22 856
BREE 783 24 0 23 220 41 1,050
RIS 256 1 0] 6 51 20 314
tT=4 0 0 0 0 0 0 0

a&t 91,167 2,441 80 3,356 19,956 4,848 117,000




